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By PEBI(ERELAET s R B TR ER A L)
(A) Find the centroid of the region in the first quadrant that is bounded
above by the line y=x and below by the parabola y = x°.

(B) Let f(x) = (x° + x) / x*. Provide the necessary information and graph
the function f.
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(C) Determine whether )’

‘onn+l)

converges. If it does, find the sum.

(D) A ladder 6.5M long rests on horizontal ground and leans against a
vertical wall. The foot of the ladder is pulled away from the wall at the
rate of 1M/sec. How fast is the top sliding down the wall when the foot
1s 2.5M from the wall.



6.5M

1M sec

x=2.35U

(E) Use Taylor’s formula to find a quadratic polynomial that approximates
f(x, y) = sin(x)sin(y) near the origin. How accurate is the
approximation if |x| <0.1?



